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Wet-dry contrast
ΔE  = 91 mm at the wet site and 825 mm at the dry site. The mid-point is 458 mm.  = 0.72 at the wet site and 0.55 at the dry site. The mid-point is 0.635. The predicted effect on  of moving from the mid-point to the wet site, according to equation (12), is:
 o  ≈  (1  0.635)/2  0.635/458  (91  458) = +0.093
and the predicted effect of moving from the mid-point to the dry site is
o  ≈  (1  0.635)/2  0.635/458  (825  458) =  0.093
hence the total effect of moving from the wet site to the dry site is (+0.093) +(0.093) = 0.186.
Hot-cold contrast
MAT = 21.6˚C at the hot site and 10.4˚C at the cold site. The mid-point is 16.0˚C.  = 0.68 at the hot site and 0.54 at the cold site. The mid-point is 0.605. 
Consider the effect of K, calculated from the Bernacchi equation. At 21.6˚C, K = 530 ppm. At 10.4˚C, K = 215 ppm. At 16.0˚C, K = 335 ppm. The predicted effect on  of moving from the mid-point to the hot site, due to the change in K, is
o  ≈  (1  0.605)/2  0.605/335  (530  335) = +0.070
and the predicted effect of moving from the mid-point to the cold site, due to the change in K, is
o  ≈  (1  0.605)/2  0.605/335  (215  335) = 0.043
hence the total effect of moving from the hot site to the cold site, due to the change in K, is (+0.070) +(0.043) = 0.113.
Now consider the effect of , calculated from the Vogel equation. At 21.6˚C,  = 0.968 mPa s. At 10.4˚C,  = 1.284 mPa s. At 16.0˚C,  = 1.109 mPa s. Because  appears in the numerator of equation (11), its sensitivity coefficient is the same as that for a. Thus it has a negative sign. But because it is lower at higher temperature (the opposite response to K), its effect is in the same direction as K. The predicted effect on  of moving from the mid-point to the hot site, due to the change in , is thus
o  ≈  (1  0.605)/2  0.605/1.109  (0.968  1.109) = +0.015
and the predicted effect of moving from the mid-point to the cold site, due to the change in , is
o  ≈  (1  0.605)/2  0.605/1.109  (1.284  1.109) =  0.019
hence the total effect of moving from the hot site to the cold site, due to the change in , is (+0.015) +(0.019) = 0.034.
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